
 

“Linked:  

explicitly to:” 

you will notice 

cad 2456 

 

and if you look at 

the “Linked:  

implicitly to:” 

and take a note of 

cads  

2649:01Jun14 

2989:01Jun14 

3274:01Jun14 

3754:01Jun14 
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5586:01Jun14 

7983:01Jun14 

8190:01Jun14 

8528:01Jun14 

6851:02Jun14 

 

 

Reason 3 

Time Laps 

If Cads 793 is the 

seven hundred 

and nighty third 

call of the day at 

the time of  

 

And Cads 2410 

is the  

 

 Also, Cad 3151 

is the 

 

Cad 2410  

 

Cad 3151 Caller 

is 3 HOURS: 25 

Minutes,  

 

 

 

should equal 741 

callers  
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